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The material inecluded within this report is the
rasult of & series of testas of concrete specimens

taken during the consiruction of various buildings

in the cities of Pasadena and Loes Angeles over a

The object of the problenm is to determine the
effeact of the water ratio on thé ultinmate strength .
of the concrete as obtained from data observed and
récorded from specinmens taken from ﬁcfual bullding
practice rather than that from laboratory specimens
made upder ideal ,or at least more nearly standard
ééhditiohés

The conclusions are drawn in a tabular form on
page 10.

It wams also observed that about eight out of every
ten contractors are using addmixtures to the extent
of ahout threse per cent hy weight of the cement used .

The strength of specimens tested at seven days
were evaluated for aomparative purposes to their
probable strength at twenﬁyeight days by Abrams
diagram formula:

Steength(23 days) iz equal to Strength (7 days) °
plue 30 times square root of Btrength (7 days).

All specimens taken are for a nominal mix of
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